FARMING SYSTEMS
III. Inputs of farming systems

A. Physical Inputs

1. Land

a) Altitude

a. Nepal: 28oN, Switzerland: 46o30’, UK: 55oN

b. Temperature decreases with increasing altitude.  Generally temperature decreases 6.5oC per km.  Places with different latitude have different surface temperature, therefore has different limit for the growth of crops.

E.g. The limit of growing wheat is 10oC

Nepal has a lower latitude: higher surface temperature -> higher limit for growing crops

UK has a higher latitude: lower surface temperature -> lower limit for growing crops

b) Slope

a. Because of gravity -> rain water moves downslope -> nutrients wash down too

· highland: thin, poor, infertile, drier soil

· lowland: deep, rich, fertile, wetter soil

b) large slope angles: difficult to use machines, nutrients & water wash down easier because of gravity (infertile soil)

c) small slope angles: can use machines, deep & fertile soil

2. Soil

- ideal soil = alluvial because it is fertile & loamy as it is well-drained

3. Climate

a) Sunlight

· photosynthesis, crops

b) Temperature

· too hot: equator; too cold: poles, high altitude

c) Rainfall

1. rainfall: total & distribution

2. too much: flooding; too little: drought

3. flooding: drainage, dams, flood retention reservoirs

drought: irrigation

d) Wind

1. strong wind: bent the crops -> die -> X$

2. wind breaks

B. Human Factors

1. Labour

Vegetables: perishable, attention seeking (watering, weeding), profitable (more crops per year).  Vice versa for wheat

2. Management

Highest ability: A in DC

Lowest ability: B/C in LDC

3. Perception

Differences in education & experience combined with the attitudes & traditional values of farmers will cause systems to vary

1. Economic Factors

a. Capital

b. This is an example of virtuous cycle (良性循環). A successful farmer has a better chance of obtaining capital in order to become richer & more successful.

c. This is an example of vicious cycle(惡性循環).  The farmer is rejected by bank as he has low profits & reputation.

2. Transport


Dairying & Market Gardening
Wheat & Sheep Farming

Attention?
large
Small

need to be fresh?
Yes
No

Frequent transport to market?
Yes
No

susceptible to damage?
Yes
No

d. The land use will extend along the transport network

e. The new road has reduced transport costs in the NE section of the region.  This allows all activities to extend because of lower costs.

a. Market

b. A farmer produces a small proportion of the total outputs of a region or a country, that he can have no influence on the market by altering his supply.

c. Consumers will not buy it & shift to others

d. In order to plan whether it is worth planting a particular crop & also know how much to plant, a farmer must have an idea of the demand (i.e. will he be able to sell it) & the price (i.e will he be able to make any profit)

Technology

Technology
Types of technology
How to help agriculture

Irrigation
Environmental
Change the natural constraint (no water)

Hothouses
Environmental
Change the natural constraint (large Temperature range)

Tractor
Mechanical
Faster, more yield

New types of crops
Biological
More yield, more $

Combine harvester
Mechanical
Faster, more yield

Fertilizer
Chemical
Increase fertility -> more yield

New breed of animals
Biological
Control the unfavorable factors, more yields

Getting rids of pests
Chemical
Less crop damage -> more yields

1. Institutional inputs

2. Government

Physical: decided by nature

Perception: decided by individual farmers

3. Land tenure

Farm owner as he own the farm, all the profits belong to him

IV. Processes
Ploughing -> sowing -> transplanting -> weeding -> harvesting

V. Outputs

+ve: food; -ve: waste

VI. Feedback

Capital

VII Conclusion







Feedback

· Students should not just memorize the answers, but apply the concepts to different  

   case studies
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